d [y M[1/GeVv]

t,had

pT

1/od’c/ d

[EEN
<
IS

Ratio to ATLAS

<
=

[HEN
o
R

1073

0.5

1300

___‘__
_._v_.
..... A

0 GeV pp

T | T
top
T

P

Pythia 6.428,351
Pythia 6.428 352,

Pythia 6.428 353 %,
- Pythia 6.428 354 -
- Pythia 6.428 355

Pythia 6.428 356
Pythia 6.428 357
Pythia 6.428 358
Pythia 6.428 359

(ATLAS semileptonic ttbar)

=
| |||||||

| |||||||| | |||||||| | |||||||| | |||||||| |
Rivet 3.1.10, = 1.9M events

mcplots.cern.ch [arXiv:1306.3436]

=F
- 11
B —05
R I ! ! N R ! ! N R ! ! o
500 1000 1500 - 2000
pi"ad [Gev], Y™ in [0,1]



	Contents
	Page 1


